FHERHRRET RS KEYHR

$HI6E105285 BIRFEHE 17,472 kg
:c3:: REHESE 6, 352 kg
% E REMES EEHE T REHE B4 %8
(kg) (kg) =iE & =8

ECHER 2,000 |V 4 2 1,000 2,160 1,620 1,188
M ER B 4 12 1,000 — 1,188 —
HL 190 |&Y 0 — —- —
AT ERE| 1ia]-] 190 1,296 756 540
=g 65 &Y 0 — — —
M ER B HiRE 65 1,620 756 540
b L 42 |y 0 — — —
FEE S| JiEE 42 1,836 1,350 270
£FEH 200 (&Y 0 — —- —
AT EN S IR g R 200 3, 402 1,620 1,296
LAy 55 |&U 0 — — ——
M ERE] EHE 55 1,944 1,512 1, 469
Mo E 1,500 [V 0 — — —
AR B iR 1,500 1,188 810 540
SAE 300 (&Y 0 — — —
I ER S itimE 300 4,104 1,404 648
oD it £ 2,000 |£A% —- 2,000 — — —




FHERHRRET RS KEYHR

S HI64E10528H BIRFEHE 17,472 kg
MERA REHESE 3,100 kg
F&E BT EE SEEAE FEH R E BRSE &8
(kg) (kg) =iE & =8

ZU 500 [&Y 0 — — —
FExER ] B 500 4,536 3,780 2,160
N 100 (&Y 0 — — —
GEpSivE] B 100 8,100 4,104 2,484
B 100 (€Y 0 — __ -
FE*ER 3] D 100 2,160 1,944 1,620
=+ 200 (&Y 0 — — —
EFSiE] itisE 200 2,160 1,512 1,188
[F=TH 400 | &Y 0 — " .
FE*TER 3| itisE 400 6, 480 4,104 1, 404
LA 300 |#Y 0 — — ——
FE*ER | EHE 300 4, 860 2,160 1,296
X)) 0 &Y 0 — — —
FETER 3| 0 — — —
DA ERA 1,500 |£AE - 1, 500 —- - —




FHERHRRET RS KEYHR

$HI6E105285 BIRFEHE 17,472 kg
EFInT& REHESE 8,020 kg
& REMES EEHE T REHE B4 %8
(kg) (kg) =iE & =8

=+ 300 (&Y 0 — — -
M ER B JiEE 300 2,160 1,620 1,080

3 50 (&Y 0 — —- —
AT ERE| JiEE 50 3, 240 2,430 1,620

AR 50 [&Y 0 — — —
M ER B JiEE 50 14, 580 9, 990 5, 400

BIRF 100 (&Y 0 — — —
FEE S| eyl 100 5, 400 3,564 1,728

s 2,700 |V 0 — —- —
AT EN S =HiRE 2,700 2,376 1,620 486

#f-C 120 (&Y 0 —_ - —
M ERE] B3] 120 3, 456 3, 240 3,024

SR 2,700 |V 0 — — —
AR B iR 2,700 1,300 950 595

fthoEFMT 2,000 |&A% —- 2,000 — — —




